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T 0 1 2 3

2.0 | 1,414 | 1,418 | 1,421 | 1.425
2.1 | 1.449 | 1.453 | 1,456 | 1,459
2.2 | 1,483 | 1,487 | 1,490 | 1.493
2.8 | 1.517 | 1,520 | 1,523 | 1,526
2.4 | 1,549 | 1,552 | 1,556 | 1,559

® A:1.517,B: 2.32
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® V0.5 =0.7071 @ +/0.05 = 0.2236

® /50000 = 707.1






AFLRAA V6 =2.449 Y o, V054 o g2 oteizh

S ER
-



B HRS et T a-b O G

@ 3V3-5 ® V3-9
® 3V3-10



ol

® V3-1

@ 2-13
® 1- 43

@ 3v3-3
@ 2+/3-2



5a—-2b

mf,

S}H
=

b 2ol

%o __o

ol
< &
w T

@ V5-2 ® V5+1

® V5+4

@ v5-1
@ V5+2






el

o

,_.,_mo

2|
(&)
&
Ll |”
Q@ ©
ol
e
o
<t
l__l
— | A~ — o\l
M © @



13.

tr2 1Yo A nABCD , oCEFG ,
OEHL) & 25 A0l 11 Y
ol =22t Sy, So, Sz olth. 51 =1
,ngésl,sgzész o o, BH
o] ZAol& F5tH?

@ 4-+3
44+ V3

® ©
©@iNo|n

A D
F
J
B C E
3+ V3
3




14. 4B L V2 o anam

+
21 vV3 3+2 °

23 3 23 3
®_7_?\/§—2\/§ ®—7—?\/§+2\/§
23 3 23 3
® -Z+2V2+2V3 ® =+ V2423

23 3
® —7—?‘/54-2‘/3



15. Vi2 9o F¢ RES ¢, 425 FES p et & 0, 2a - 3b 9] G2

D 15+ 62 @ 15-6+2 ® 15+6V3
@ 15— 63 ® 15-543



